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English (MCOQ =24)

Chinose the correct option.

When a meteonite enters the curth's mmosphere, it mvels

I oy rmpidly {b) haltingly () fastly iy ploddingly
The corneat reponed fom of the sentence-

He said 1o me, "You will ger the result of vour COVID- 19 test omormow

B e 1old me that | would get the result of my COVID-19 test the next day

(b} He sad Iwould get the repalt of my COVID-19 test tomomomw

() He tald me that | pet the resolt of my COVID-19 et the next day

() He told me that will be geeing the result of my COVID-1% st

My friend failed in the examination because his answers werenol 1o the questions asked

a) inberet B e feh allusive {dy inchrsive

The poem 'Bidfraln® written by Kazxi Nazml Isfom is os alive and tsdoy os it was o hondred vears ago.
{a) appealed ¥B) cppealing ie} appeal id) the appeal
Many leading members of the opposition party o justify the docision

B b o tried (b has ted e trving (el tres

The correct passive form of "Who baked the cake™ is-

() Wh Lhe cake wis baked” {b) By whom has the cake been baked?

(c) By who was the cake haked? Wl 2y whom was the cake baked?

Travelers  their resenvations well in sdvanee if they want to fiy dunng the summer holidays

(a) had better to ot (b} had to gt bettar - had better get (d) had batter got
Thi thieves broke the window and elimbed It

() moross (b} over {eh along B hraugh

I b reconciled myself never-devinge my joh

i) at <l o (e} after (d) on

The synnnym ot ‘Hypathetical' \-

() actual ib) proposed B8 spcculonve (d) unquestionable

Read the following passage and answer questions 11-15;

An alloy 15 a subsianee that ulunﬂ.ﬂd by combining a metal with other metals, or nonmetals. Far example. brass 1s an
alloy of the metals copper and zine, and steel s allov of the metal iron with: the nenmetal carbon, The special
charmgteristies of metals, such as hardness, strength, fexibility, and weight are called its propaties, By the pmoeess of
alloving. it is possible w create matérials with the exact combinstions of propemics (oo paticular usé.

In the aircraft industry, there 15 0 need For metals that are both strong and Bght Steal iz strong but too heavy, Wherens
alurminmm 15 hpht bat oot strong. By maxing aluminum soith copper and other metals, an alloy 1= crented that s stromg
to withstond the stresses of fight. but ight enough o reduce the cost of fuel to bt the orernfl

Thire 15 an imporiant difference between the alloyvs created by us and the comnation of metals that ocoor acesdentally
as impure mefals, Baoth are mistwies, but allovs are mistures that hove been delibemtely combined in specific
proportions for definite purpose

What 15 on alloy !

(a) Maals metied in lguid form,

(bbb Industrial matenals which are not vers good

B8 A planncd combination of materinls for a specific purpose
i} Impure matenals that occor accidentally,
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Which one of the fllowing, according o the passage, 15 applicable o metaly’?
() This do not have any weight, b Thiy are not strong
- They are pliakle. id) Thev are soft
Wit does the writer sy aboul alloys in the texi?

{a) Thev are nat usefil

(b} They are created from waste products

B ooy are o combination of metals in specific proportions

() I allovs metils ane combued momndom propofions.

Why does the passnge give the example of the sremft industry?

(2) To emphosise the importance of the aremnfl indwstn

¥R To demonstrate how alloys can be used to sobve industrial problems

(e} To show how materials can be used without alloyving,

() T show the negative side of allovs

The passage says that allowvs aw :
{a) ndustnal byproducts (B} industrially umim portant
-mndr: by us {d) only used in mrermft industoy

Ardrae Gie (MCQ S2)

AT i S e T G e e A ey

(1) ™ (b) CEZI=

wifr vy S sl - W capil (R ST A 2

(a) CAPTSTEE IS (by sn wESH WA (o) PR wimem ) e e e
ERT IR S TR _

Bl o = (h) T (c) W () T

ae AeCy SHomt wneGinee Be wifhwia w1 wu?

() STy ) T e () BRI R () =T ST
P ST SR _

Wl 7 e st () TS AT TR SE

() TGRS RS T TS (d) *N¥s STEres W e
HIE-TFE <7 =4 WP

(1) Lot i W) 2 et

(¢) TS e {d) o= R =N

HTTP w2 ==t 817

(a) Hyper Tesd Transmission Protocal - Hyper Text Transfer Protocol

ic) Hyper Tewt Trunson Frotwoeol ~{d) Hyper Text Transtor Promotion

353 TG 6 FGEeF THd SEAL T ANS 9T Men TEEeeTE S e S (e T
() Tt =St o WO coomt e e

() T ATTEw {d) T R T

s Frafas el ArefEs weiarsTs 1 o ofEfee?

() Pt Fere BB e e w

(e) famrrm faue 998 (dy 77 e

() ol (b) &= B et o () wem BT

=% F1 3T aw a7

() BRGNS T BT (b) F=w=EE G BERT

Bl =5+ e 1360 (d) Frefirs =g 56T

(i) Ferwrs ) =



2

2|

a8 |

LT

i

29|

ok

=

LY

s |

L8

=81

=it

A

39

=l |

=il

W |

@ 4% TE TE] q =Y

(a) 330 (b} 3@ B 250 (d) see

A (ST T R AT T A AT

(1) 3ota Bl :200 (¢} 35¢8 (d) 3300
S wriwew Farem g aryy = S5 a7

() CRTET T e W) cerrre carrRR A

() (HrEr=pT S T (d) ¥T=En T

= O SEWILeY e T R SR SreT 5T

(a) LTS (b) AT (c) GofeEa Bl ==
AT w0 G S 4 ST A s = e

() BT IR W) v = T

() TATT ST (d) BT T

S TraEiaTer 2 ferm a7

(1) W= e e (b} e sy e

B =5 S wiaem () FTETrR e wfiem

e Fre-sea) wwe A F Ay ofEfre?

() ZrET (b)) A& R ez (d) =3
AT TEETN eI ey

(a) TS TE (b} AR 8 e (d) =z
3033 W SRS SR ST I AT (i w A S (T

Bl = et e () W5 TG <A1

(¢) SR b o W (o) ¥ Etwy

S o ST MfEd T e e

(@) A (= e P ==y <o

() AT AT e (o) SR FAT

R R (AR ENE i v

() SR =T (b} = T {c) TE= THR ) . ow e
S W F T8 ST T P e (e e fasie

(a) TCRTCR T ) == (ic) TR () B
fmsa g s rigEe?

Il svean (b) SEE L] () casl-p|ras) () g
So%0 AR waw- s et Fred e Bs wom wfemes o B ?

B = = (b3 =Mt cae (e) =g T () 8 T
suds Ao Sl wew oy viel FMegfvier aun o a7

(a) s il - c) 8 (d) 32
e WG AT W i et

[a) SR TEUE (b)) T8 AT

BB 18 = o e T @ S () T ST o7 TEE TR & S
(a) =TE® Bl o= (c) @i (d) we= @
e T o 0o 9T @ ITECT TRART SeEEEE W fwen ot one?

(a) T B s (c) =Mz (d) sy

a0 faprea offafr ou (L. & TEuTEE e SeTE @ 6 - o1 e ceawe W A o, faL?
() & i) 2= ) &9 id) »o



